Radiation Dose (rad/hour)

—-200




Rate [HZz]

= = = =
Q o o o
S [§)] 2} ~
AL IR IR BRI RRL B IR R

=
o
w

=
o
N

He pipe GEM Background Rate in each strips [DID==1]

—All
—Vacuum Window
—Beam Pipe
—Beam window

— Absorber

WMI ]l UWW

-500 -400 -300 -200 -100
GEM.X [mm]




Rate [HZz]

10’

10*

10°

10?

He pipe GEM Background Rate in each strips [DID==1]

—All

—Vacuum Window

—Beam Pipe

—Beam window
—Absorber

i

“NM#MWW

"l]

)wwMNqIII~

| [N II‘ |
-600 -400 -200 0 200 400 600
GEM.Y [mm]




Rate [HZz]

10’

10°

10*

10°

10?

He pipe GEM Background Rate in each strips [DID==2]

LT IIHI“IIIIIHIIJI ||II|I|I||) [ i)

0

100

200 300
GEM.X [mm]

—All
—Vacuum Window

—Beam Pipe

—Beam window
—Absorber

|
400 500



Rate [HZz]

10’

10°

10*

10°

10?

He pipe GEM Background Rate in each strips [DID==2]

—All

T

n L

—Vacuum Window|
—Beam Pipe
—Beam window
—Absorber

-600 -400 -200 0 200 400
GEM.Y [mm]




Rate [Hz/mm?]

a4l
10°E ~All
10° :_ —Vacuum Window
? —Beam Pipe
102 ;_ —Beam window
= — Absorber
10 =
e
10 =
1072 =
10° -
:I 1 1 1 | | I I | | | I I | | | I I | | | I I | | | I | | 11 1 1 L 1l N T |
0 100 200 300 400 500 600 700 800

He pipe GEM Background Rate[DID==1]

GEM.R [mm]

900



10

Rate [Hz/mm?]

= i~
S o
S o

=
<
w

He pipe GEM Background Rate[DID==2]

—=All

—Vacuum Window

—Beam Pipe
—Beam window
—Absorber

O rrrmm

100 200 300 400 500 600 700 800
GEM.R [mm]

900



HyCal Background Rate
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HyCal Electron Background Rate
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HyCal Positron Background Rate
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HyCal Photon Background Rate
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